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12A18]|8 |#+&EH tk&RB k%R k&R k&R k&R hER k%8 hER
128288 |iF#%RB A& H hEHE 2% =] hEH hEH hEH =] h3EH
12A38k  |BHEE 0.5h  |EARE 0.5h  |BARE 05h |BHEE 0.5h |BAEE 0.5h |BAEE 0.5h |BAHE 0.5h I%Biﬁn 03h |BAHEE 0.5h
12A4Bk  |BR&EE 0.5h  |ERARE 0.5h  |HRARE 05h |BEREE 05h |BA®E 05h |BraE 05h |BRHE 0.5h I%rsiﬁn 03h |BA®E 0.5h
12A5E|K  |BPEE 1h |BrEE 1h  |BRAEE 0.5h BT 1h  |kEE BT 1h  |hEE |§ﬂiﬁb 03h |BAHE 1h
12A6B]E  |BH&RE 0.5h  |EARE 0.5h  |HRARE 05h |EREE 05h |BA®E 05h |ikEE RHRE 0.5h Iaﬁiﬂij 03h |k#ER
12R78)L£ |A%RB wEHE 4h |aREE 3h BRAEE 2h  JIFAYU-Y 4h  |BHEE 3h JkER =] BARE 3h
12B8H|H [|if#%R hEH hHE h&EH hEH REH hEH =] hEH
12R98)A |iFER k&R hEH k&R hER k&R hER hEH hER
12A108Kk  |BEREE 0.5h  |EARE 0.5h  |HRARE 05h |EREE 05h |BA®E 05h |BraE 05h |BAHE 0.5h I%rsiﬁn 03h |BRHE 0.5h
1RANABPK  |EHEE 05h  |ERARE 0.5h  |BARE 05h |BHEE 0.5h |BAHE 05h |BAHE 0.5h |BAHE 0.5h Iérﬁz—ib 03h |BAHEE 0.5h
1RARBYK  |AREE hEH hHE h&EH hEH REH hEH =] hEH
12A13E|E |RHERE osh |BRARE 0sh |BHEE 0.5h BT 05h |&PuEE 0sh |B&AEE 05h BT 0sh [ik%E BRARE 0.5h
128148 |&wERE 4h |BREE 3h |mERa ah &R wERA 4h  |BAmE 3h |kER =41 BARE 3h
121588 |kEH hEH hEH & hEH hEH hEH k%8 hEH
12B168|8 |kEE tk#&H k%R k#&B k&R k&B k&R k3B hER
1RA17TE|A  |BEREE 05h  |BRARE 0.5h  |BARE 05h |BAEE 0.5h |BAHE 05h BT 0.5h |BAHE 0.5h I%Biﬁn 0.3h |BARE 0.5h
128188k  |BAEE 0.5h  |EARE 0.5h  |HRARE 05h |&AEE 05h |BAmE 05h |&raE 0.5h |BAHE 0.5h I%Biéif) 03h |BAmE 0.5h
12A19BK  |BRARE 1h |BrEE 1h |BRARE 0.5h |BPIET 1h  |&eess th |BREE 1h  |grmg 1h |%Biﬁ)] 03h |BAIHE 1h
12A208|& |BEHKE 0.5h  |EARE 0.5h  |HRARE 05h |&AEE 05h |BAmE 05h |&raE 0.5h |BAHE 0.5h I%Biéif) 03h |BA®E 0.5h
12A21B|E  |BRAEE 3h |¢kEE SRRE 3h |&THE 35h |&RHE ah  |mrmm 3h |BRHEE 2h k%R BRARE 3h
12A28|8 |*kEE tk#&H k%R k#&B k&R k&R k&R k3B hER
12A238|A |AKEH hEH hEH *hEH hEH hEH hEH hEH hEH
128248k |ikEE tk#&H k%R k#&B k&R k&R k&R k%8 hER
12A258k  |AER &R SREE 3h |hERB hEH hEH hEH hEH hEH
12R26Bk |RAKE 3h |thEE =51 &R hER k&R hER =41 k&R
128278)%
128288+
12A298|8
12A308|A
12A318|X
g FrFE
1828k
1A38]&
1848|+
1A5H]|8
1A6H|A
1878k |rrmmE 3h |thERE hER hER hER BT 3h &R =51 k&R




